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The following table shows the percentage (%) breakup of

(i) number of employees,

(i1) number of male employees, and

(ii1) number of employees who recently got promoted in five different departments, namely, Accounts,
Production, IT, HR, and Marketing, of an organization. Total number of employees, male employees and
recently promoted employees are 1800, 1020 and 600 respectively.

Based on the data in the table, answer the question.
Department -wise Breakup of Employees

Distribution (%) of Employees
Department|  Number of | Number of Male | \mber of recently
Emplovees (1800)| Employees (1020) | P iz oo)p ¥

Accounts 20% 5% 6%
Production 35% 50% 353%
IT 15% 20% 26%
HR 12% 10% 11%
Marketing 18% 15% 22%
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SPrded 20% 5% 6%
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HIdh {3 18% 15% 22%
The number of employees who got promoted from the HR department is approximately % of the
number of employees working in the department.
1.36.18
2.30.56
3.47.22
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The following table shows the percentage (%) breakup of

(i) number of employees,

(i1) number of male employees, and

(ii1) number of employees who recently got promoted in five different departments, namely, Accounts,
Production, IT, HR, and Marketing, of an organization. Total number of employees, male employees and
recently promoted employees are 1800, 1020 and 600 respectively.

Based on the data in the table, answer the question.
Department -wise Breakup of Employees

Distribution (%) of Employees
Department]  Number of Number of Male '\r;l;l:;iloe;eclzg;
Emplovees (1800)| Employees (1020) | P (600)9 ?

Accounts 20% 3% 6%
Production 33% 30% 35%
IT 15% 20% 26%
HR 12% 10% 11%
Marketing 18% 15% 22%
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STy 20% 5% 6%
PIEEEIE] 35% 50% 35%
3Rl 15% 20% 26%
IR 12% 10% 11%
Al 1T 18% 15% 22%
The total number of employees who got promoted from all the departments together is approximately %

of the total number of employees working in all the departments together.

56
21
45
33

B

o L

1) 1
(2) 2
3) 3
(4) 4

TS 1Y Gt faumT & ugraid U SHaal &1 oo S U 91y 5l faymT o Srikd srnal ot
G YT BT U fha-T Ha=Id g 2

56
21
45
33

Fors

Fratn

1 1

(2) 2

(3) 3

4) 4

1[Option ID=37905] Question Description : general_paper_genarel paper_set 23_english_q2
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The following table shows the percentage (%) breakup of

(i) number of employees,

(i) number of male employees, and

(ii1) number of employees who recently got promoted in five different departments, namely, Accounts,
Production, IT, HR, and Marketing, of an organization. Total number of employees, male employees and
recently promoted employees are 1800, 1020 and 600 respectively.

Based on the data in the table, answer the question.
Department -wise Breakup of Employees

Distribution (%) of Employees
Department|  Number of | Number of Male | \mber of recently
Emplovees (1800)| Employees (1020) | P ® 00)1" ¥

Accounts 20% 5% 6%
Production 35% 50% 33%
IT 15% 20% 26%
HR 12% 10% 11%
Marketing 18% 15% 22%
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TET (1020)
EERER) 20% 3% 6%
BIEERE 35% 50% 35%
35l 15% 20% 26%
TR 12% 10% 1%
HIh e 18% 15% 22%
Total number of female employees working in the Production and Marketing department together is
1.234
2. 406
3.201
4,486
(11
(2 2
(3) 3
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The following table shows the percentage (%) breakup of

(i) number of employees,

(i) number of male employees, and

(ii1) number of employees who recently got promoted in five different departments, namely, Accounts,
Production, IT, HR, and Marketing, of an organization. Total number of employees, male employees and
recently promoted employees are 1800, 1020 and 600 respectively.

Based on the data in the table, answer the question.
Department -wise Breakup of Employees

Distribution (%) of Employees
Department|  Number of | Number of Male | \mber of recently
Emplovees (1800)| Employees (1020) | P ® 00)1" ¥

Accounts 20% 5% 6%
Production 35% 50% 33%
IT 15% 20% 26%
HR 12% 10% 11%
Marketing 18% 15% 22%
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T (1020)

HPTIc] 20% 3% 6%

EGEE 35% 50% 35%

3Rl 15% 20% 26%

TIHR 12% 10% 11%

AT e 18% 15% 22%

If half of the number of employees who got promoted from the IT department were males, then the
approximate percentage of males who got promoted from the IT department was

61%
. 20%
54%
. 38%
(1) 1
) 2
3) 3
(a) 4
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The following table shows the percentage (%) breakup of

(i) number of employees,

(i) number of male employees, and

(ii1) number of employees who recently got promoted in five different departments, namely, Accounts,
Production, IT, HR, and Marketing, of an organization. Total number of employees, male employees and
recently promoted employees are 1800, 1020 and 600 respectively.

Based on the data in the table, answer the question.
Department -wise Breakup of Employees

Distribution (%) of Employees
Department|  Number of | Number of Male | \mber of recently
Emplovees (1800)| Employees (1020) | P ® 00)1" ¥

Accounts 20% 5% 6%
Production 35% 50% 33%
IT 15% 20% 26%
HR 12% 10% 11%
Marketing 18% 15% 22%
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TE=AT(1800) |- i B UE=AT (600)
T (1020)
PRI 20% 3% 6%
TS 35% 50% 35%
3Rl 15% 20% 26%
TR 12% 10% 11%
T {31 18% 15% 22%
How many females work in the Accounts department ?
1. 300
2.296
3.283
4.312
(1) 1
2 2
(3) 3
4 4
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2[Option ID=37918]
3[Option ID=37919]
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The sequence of using cognitive Apprenticeship model in the classroom is

. Modelling, Coaching, Scaffolding, Articulation, Reflection and Exploration

. Coaching, Mentoring, Assimilation, Socialisation, Retention, and Effect

. Identifying, Memorisation, Coaching, Socialisation, Assimilation and Adaptation.

. Exploration, Memorisation, Retention, Remembering, Visualisation and Implication.
1) 1

(2) 2

(3) 3
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(4) 4
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1[Option ID=37921] Question Description : general_paper_genarel paper_set 23_english_q6
2[Option ID=37922]
3[Option ID=37923]
4[Option ID=37924]
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Which of the following statement best describes "formative Evaluation” in evaluation procedure ?

. A teacher awards grades to students after having transacted the course work.

. The teacher clarifies the doubts of the students in the class itself.

. The overall performance of students is reported to parents every six months.

. The teacher gives marks to students in the final examination at the end of the year.

B

1 1
2) 2
3) 3
4) 4
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Match List I with List II

LISTI
(Strategies of cognitive
Apprenticeship Model)

A Modelling L

LISTII
(Meaning)

Helping learner in starting and gradually
fading the support

Observing the performance of an expert
(Teacher or more experienced peer)
Giving words to their understanding of the
process and content

Giving external support to learner in the
form of hints . feedback, reminders etc.

B. |Coaching I

C. |Scaffolding III.

D. |Articulation v

Choose the correct answer from the options given below:

. A-IV, B-I, C-IIL, D-II
. A-IIL, B-TI, C- IV, D-1
. A-IL, B-IV, C-1, D-TII
. A-I, B-IIL, C-IV, D-II
(11
) 2
3) 3
(4) 4
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1. A-IV, B-I. C-III, D-1I
2. A-IML, B-II, C-IV, D-I
3. A1, B-IV, C-I, D-III
4. A-lL, B-TII, C-TV, D-II
11
2) 2
(3) 3
4) 4
1[Option ID=37929] Question Description : general_paper_genarel paper_set 23_english_q8
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Akshay. an eight-year old boy. was emotionally stable and performed well in school. His parents have
divorced recently. Due to this , he has become a very anxious child. What can Akshay's teacher do to help
alleviate his anxiety in the classroom ?

1. His teacher could provide structure, organizational tools and choices
2. His teacher could respect Akshay's emotional state and leave him alone
3. His teacher could provide Akshay with counselling regarding his anxiety
4. His teacher could tell the other children that Akshay is anxious, and that they must be extra nice to him
a1
(2) 2
(3) 3
(4) 4
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1[Option ID=37933] Question Description : general_paper_genarel paper_set 23_english_q9
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Which of the following are the key elements of cooperative learning ?

A. Groups consisting of high, average and low achievers are heterogeneous.
B. Students are mostly passive.

C. Students work in groups to master academic materials.

D. Reward system is individually oriented.

E. Students receive information transmitted only from teachers.

Choose the most appropriate answer from the options given below :

. B and D Only

. Aand C Only

. A, Band E Only
.C,Dand E Only
1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=37937] Question Description : general_paper_genarel paper_set 23_english_q10
2[Option ID=37938]
3[Option ID=37939]
4[Option ID=37940]
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The approach of accepting knowledge because people have agreed upon, following a reasonable argument is
known as

1. Authoritarian
2. A -priori
3. Scientific
4. Experiential
(1) 1
(2) 2
3) 3
4) 4
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2[Option ID=37942]
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Values assigned to nominal scale of measurement are

1. Permanent
2. Orderly
3. Arbitrary
4. Meaningful
(1) 1
(2) 2
(3) 3
(4) 4
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1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=37945] Question Description : general_paper_genarel paper_set 23_english_q12
2[Option ID=37946]

3[Option ID=37947]
4[Option ID=37948]
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Use of scientific research to promote one's own cause inappropriately is described as

1. Improper science
2. Unscience

. Routine Science
. Junk Science

(1) 1

) 2

3) 3

(4) 4
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1[Option ID=37949] Question Description : general_paper_genarel paper_set 23_english_q13
2[Option ID=37950]
3[Option ID=37951]
4[Option ID=37952]
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Which of the following are categories of participants in research ?

A. Good participants

B. Negative participants

C. Faithful participants

D. Apprehensive participants
E. Traditional participants

Choose the correct answer from the options given below :

B.C
3.A,. B, D, E Only
4.A,C,D,E Only

1
) 2
@) 3
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1.®ad A, B, C.D
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(1) 1
(2) 2
3) 3
4) 4
1[Option ID=37953] Question Description : general_paper_genarel paper_set 23_english_q14
2[Option ID=37954]

3[Option ID=37955]
4[Option ID=37956]
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Summative evaluation is also known as

. Content evaluation
. Primary evaluation
. Cost Evaluation

. Impact evaluation

B

(1) 1
(2) 2
(3) 3
(4) 4
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(1) 1

(2) 2

3) 3
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1[Option ID=37957] Question Description : general_paper_genarel paper_set 23_english_q15
2[Option ID=37958]
3[Option ID=37959]
4[Option ID=37960]
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When media create pictures in the head, they act as

. Corporate agendas-setters
. Political representatives

. Tools of dissonance

. Agents of consonance

b2 =

L

(1) 1
2) 2
(3) 3
4) 4
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3) 3
(4) 4

1[Option ID=37961] Question Description : general_paper_genarel paper_set 23_english_q16
2[Option ID=37962]
3[Option ID=37963]
4[Option ID=37964]
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Western concepts of communication are based on

. Collectivism

. Individualism

. Impressionalism
. Absolutism

(1) 1

(2) 2

3) 3

(4) 4
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1[Option ID=37965] Question Description : general_paper_genarel paper_set 23_english_q17
2[Option ID=37966]
3[Option ID=37967]
4[Option ID=37968]
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The three divisions of signs identified by Charles Pierce are :

A. Modular

B. Prescriptive
C. Iconic

D. Indexical
E. Symbolic

Choose the correct answer from the options given below :

1. A, B, C Only
2.B,C,D Only
.C. D, E Only
_A.B,E Only
1) 1
(2) 2
(3) 3
4) 4
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2.%dd B,C,D
3.%dd C,D,E
4.%dd A, B, E
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1[Option ID=37969] Question Description : general_paper_genarel paper_set 23_english_q18
2[Option ID=37970]
3[Option ID=37971]
4[Option ID=37972]
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Match List I with List II

EISTT LISTII
(Motion picture 2 i
p (Audience type )
category)
A [High brow I. |Those who want to escape form daily routine
B, MMiddie brow I Much mpmsncated and have deeper understanding|
of the medium
C. [Low brow II1. |Intellectual satisfaction ortented
D. [Post brow IV. [Can distinguish between good and bad films

Choose the correct answer from the options given below:

A B TE G T
. A-II, B-III, C-IV, D-I

[

3. A-III, B-IV, C-1, D-II
4. A-IV, B-1, C-II, D-II
1) 1
2) 2
(3) 3
(4) 4

il 191 gl 11 9 firef sifore

1 =
sofh) SHTES (A1) TP
PN GEE] 1 [o oo 90 Saad aed ¢ |
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FrafaRad f[deeal T 9 981 SR &1 994 Sl :

1. AL, BT, €I, DIV
2. A.IL, B-III, C-IV, D-I
3. A-IIL, B-IV, C-I, D-II
A-IV, B-I, C-II, D-III

o

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=37973] Question Description : general_paper_genarel paper_set 23_english_q19
2[Option ID=37974]

3[Option ID=37975]
4[Option ID=37976]
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Given below are two statements :
Statement I : According to some experts, communication reflects the primary group affiliation of a person.

Statement II : Communication should be understood within the broad social structure and process.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are True.
2. Both Statement I and Statement IT are False.
3. Statement I is true but Statement II 1s False.
4. Statement I is false but Statement II is True.

1 1
(2) 2
3) 3
4) 4




A sy farmE:

FYTL: TS ORI B SR T TP o 1 MUfHe T8 Taadl & IRafed FRa g |
Y 11 : GO &I SIS rTfords TXaT 3R Uichar & Lok gus oFT 91fev |

SR HY & felie 3, T4 3y e faswedi & 3 9t 3R &1 994 Pifon:

1. HYF 1 IR 1 A 9 B
2. HYF1 AR 11 A 3T B
3. HYT 1T &, Al HY 11 JTT 8|
4. BYT 1 HTA g, Ao FYT 1 TA B
11
(2) 2
(3) 3
(4) 4

1[Option ID=37977] Question Description : general_paper_genarel paper_set 23_english_q20
2[Option ID=37978]
3[Option ID=37979]
4[Option ID=37980]

Sl. No.21
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If simple interest on a certain principal amount at 5% per annum for 5 years is Rs.900 more than the simple interest on the same principal
amount for 4 years at 4% per annum, then find out the principal amount.

. Rs.9.000
.Rs.10.500
.Rs.10,000
.Rs.12.000
1 1
(2) 2
(3) 3
4) 4

fe et MTYd e o 5o aiftie &1 X 5 g9 &1 HIURU &6 I &1 JoreH W 4 aY & o7 42 e a3 &1 HURU &7 4 2
000 3% . Al GEY J1d HITIT |

o o=

L

1. 29,000
2.710.500
. 210,000
.212.000
1) 1
(2) 2
3) 3
4) 4

o

1[Option ID=37981] Question Description : general_paper_genarel paper_set 23_english_q21
2[Option ID=37982]
3[Option ID=37983]
4[Option ID=37984]

Sl. No.22
QBID:23201022

Pointing towards a Picture (P), a man 'Q' says that "He is the son of only daughter of my father-in-law". How
is the man 'Q' related to the person in the Picture (P) 7

1. Brother-in-law
2. Brother
3. Son
4, Father
1) 1
(2) 2
3) 3
(4) 4

TP TR (P) B 3R Wb B! U A 'Q HEcll ¢ [P a5 TR IR P! sPhaldt 9¢l oI del ¢ |" il
'Q' P TR H Sid ofdd (p) T T Y § 2

RIS
g

gl

foan

LT




3) 3
(4) 4

1[Option ID=37985] Question Description : general_paper_genarel paper_set 23_english_q22
2[Option ID=37986]
3[Option ID=37987]
4[Option ID=37988]

Sl. No.23
QBID:23201023

If in a certain code language PROFESSOR is written as ' RTQHGUUQT', then in that language, how the word
SCIENTIST will be written ?

JSTDIJFOUITU!

. UEKGOVEUV'
. 'UEKGPVLUV'
. 'UEKGPVEUV'
1) 1

(2) 2

(3) 3

(4) 4

1S fooedt % e U o PROFESSOR' & RTQHGUUQT il SITal 3, 1 9 YW H 'SCIENTIST &9
fora o 2

"TDJFOUITU'

. "UEKGOVKUV'
.'UEKGPVLUV'
. "UEKGPVKUV'
(1) 1

(2) 2

(3) 3

(4) 4

b =

S Y

R

1[Option ID=37989] Question Description : general_paper_genarel paper_set 23_english_q23
2[Option ID=37990]
3[Option ID=37991]
4[Option ID=37992]

Sl. No.24
QBID:23201024

A girl starts walking in the south direction from a point U. She walks 50 meters and then turns to her right and walks 30 meters. She again
turns right and walks for 40 meters. Finally. she mowves east wards and goes 40 meters stopping at point W. Find how far is the girl from
her starting point U.

1.5/10m

2.2,/10m

.10m

-10/2 m

1) 1

2 2

@) 3

) 4

TS dsd! U fag O o famn & 9emr sy &l § 198 50 e Ferh 8 3R R 3mm aifeeht oik guft & qur 30 fex aarcht 8 |
ag [t griel SR ggdll § 3R 40 ex Il § | 3id ¥ a8 Jd &1 3R gl g 3R 40 TR AR W 45 W ISl § | TSP 30
IRIAB [eg U A fFagR g 2

.5/10 iR
.2/70 Wi
10 TR

L1047 Hiex

1) 1
(2) 2
3) 3
4) 4

o

O

1[Option ID=37993] Question Description : general_paper_genarel paper_set 23_english_q24
2[Option ID=37994]
3[Option ID=37995]
4[Option ID=37996]
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What number should replace the question mark in the series given below.
11,13, 29, 01, 369, 2

1845

b2 =

3291

e L

1) 1
(2) 2
3) 3
4) 4

=T <t TS e | o1 < e vy arae g (2) B wiawifud sl o
11, 13, 29, 91, 360, ?

. 1845
. 1850
. 1851
.3291
(11
) 2
(3) 3
(4) 4

| S

S

1[Option ID=37997] Question Description : general_paper_genarel paper_set 23_english_q25
2[Option ID=37998]
3[Option ID=37999]
4[Option ID=38000]

Sl. No.26
QBID:23201026

"Soft drinks sector has shown good growth in profits over past few years therefore we can conclude that each
individual soft-drinks company is making good profits". Above argument is an example of which of the
following fallacies ?

. Hasty generalization

. Slippery slope

. Begging the question

. The fallacy of division

[

o L

1 1
(2) 2
(3) 3
4) 4

<Hrre-Eag &7 - favd o anl o @y J 3=t 9fs axIis ¢, SUiY §H 48 (epy MaTd d&d ¢ 16 U
qmwmght%%ﬁwﬂ3ﬁﬂWM$mTﬁ%dekd%%ﬁam@dﬁﬁﬁﬂﬁﬁaﬁﬁmﬁ
ERSUEE

1. 3R] GRS
2. T aeHgad g
3. YT &Y
4 fog adb g

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38001] Question Description : general_paper_genarel paper_set 23_english_q26
2[Option ID=38002]
3[Option ID=38003]
4[Option ID=38004]
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Which of the following statements are logically equivalent ?

A. No aeroplanes are electric vehicles.

B. All non-electric vehicles are non-aeroplanes.
C. No electric vehicles are aeroplanes.

D. All aeroplanes are non-electric vehicles.

Choose the correct answer from the options given below :

1. B, C and D Only
2. A, Cand D Only
. Aand B Only
.Band D Only
1) 1

(2) 2

(3) 3

(4) 4

FafafEa ¥ 4 H ¥ Py difde =43 90ded § 2

A s i fauF safdcw asT-Riga § |
B. Tl TR-30fdc® g IRAAF g g |
C. ®Is i gaifde® are- A gl grar g |
D. 9+t feuH TRgafde® ae- g g |

A1 feu e faedl § 9 98] GTR &1 98- Bifers:

1.$gd B, C 3R D
2. HAA A, C 3R D
3.%ad A 3R B
4. HadAB AR D

1 1

2 2

(3) 3

(4) 4

U T

1[Option ID=38005] Question Description : general_paper_genarel paper_set 23_english_q27
2[Option ID=38006]
3[Option ID=38007]
4[Option ID=38008]

Sl. No.28
QBID:23201028

If the statement "No aeroplanes are electric vehicles' is given as true, then which of the following statements
can be immediately inferred to be true ?

. All aeroplanes are electric vehicles.

. Some aeroplanes are electric vehicles.

. Some aeroplanes are not electric vehicles.

. Some aeroplanes are not non-polluting vehicles.

ba =

e Lo

(1) 1
2) 2
3) 3
4) 4

e 59 oY= @18 ot faqH safdes are 8 sidl 8" &1 9d & w9 H fear mar § al Fafafed & 9 fag
HYA & ATDIICTD U I TG Bl BT A [T o Fepall § 2

.t four Saifded a8 § |

. P% a9 safde® ae g © |

9% [0 saifdes ae TR g ¢ |
TS fGHH Rgu® aeT TR SIa § |
@1

2) 2

(3) 3

) a

O e

1[Option ID=38009] Question Description : general_paper_genarel paper_set 23_english_q28
2[Option ID=38010]
3[Option ID=38011]
4[Option ID=38012]
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Which of the following statements are so related that one is the denial or the negation of the other ?

A. All aeroplanes are polluting vehicles.

B. No aeroplanes are polluting vehicles.

C. Some aeroplanes are polluting vehicles.

D. Some aeroplanes are not polluting vehicles.

Choose the correct answer from the options given below :

. Cand D Only
. B and D Only
. Aand D Only
. Aand B Only
1) 1
(2) 2
(3) 3
(4) 4

Fofafaa 0 TR0 Sy SU TSR Geid & fr U, s @ dsT o sy g 2

AT T T T aegId B |

B. @15 it fa0H Ugy® are- el gIaT § |
C. TS AU Ugu® aeT8Id & |

D. % 39 Ugy® arg7 el 8l & |

A f4u e faed § 9 98l GTR &1 98- Bifer:

1. FadC 3ARD
2. HFAB AR D
3. %dd A 3IRD
4. Had A ARB

1 1

@2 2

(3) 3

(4) 4

o o=

U Y

1[Option ID=38013] Question Description : general_paper_genarel paper_set 23_english_q29
2[Option ID=38014]
3[Option ID=38015]
4[Option ID=38016]

Sl. No.30
QBID:23201030

According to Classical Indian School of Logic (Nyaya) which of the following argument involves the fallacy of Sadharana (middle term

being too wide) ?

1. The hill has smoke because it has fire.

2. Sound is eternal because it is audible.

3. The hill has fire because it is knowable.

4. All things are non-eternal, because they are knowable.
(1) 1

) 2

3) 3

4) 4

YRATT YR TH e & A79-0d & SaR Hafarad 3 § fg gfed § 9yRo ad N (e U8 s 8- & A1) Sfad g 2

1. TETS! UR Y3 § wife 39 AU |
2. 3 <y © T Tg 5 ¢ |
3. UGTSI IR 31f & i U5 I E |
4. it ol TR ©§ T 30 © |
1) 1
2) 2
(3) 3
(4) 4
1[Option ID=38017] Question Description : general_paper_genarel paper_set 23_english_q30
2[Option ID=38018]

3[Option ID=38019]
4[Option ID=38020]
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QBID:23201031




What exactly is cloud computing ?

. A way to organize desktop computers.

. Software that takes up little space on a hard drive.
3. Computing resources that can be accessed on demand, like electricity from a utility.
4. The World Wide Web.

1) 1

) 2

(3) 3

(4) 4

FATSS HEGH T R G 2
1. S¥pclY HIYER] DI FISd P DI TH RIBT
2. 98 S dR ol ol gregrea 1§ UIS] R BRdl ¢ |
3. 3 ST (qRBE) T (i) S & 97 R gay (GT=) 81 9d o o fassdt sHgart

[

1[Option ID=38021] Question Description : general_paper_genarel paper_set 23_english_q31
2[Option ID=38022]
3[Option ID=38023]
4[Option ID=38024]

Sl. No.32
QBID:23201032

Given below are two statements :
Statements I : In an email system, Bee : allows recipients to be visible to all other recipients of the message.

Statement II : VoIP is the use of Internet to make phone cells.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are True.
2. Both Statement I and Statement IT are False.
3. Statement I is true but Statement II 1s False.
4. Statement I is false but Statement IT is True.

(1) 1

2) 2

(3) 3

(4) 4

fRasEiume:

HYA T : 5 SHA TG T, Bee : ATadarst & 943 & T2t s araaaisfl, 8 exaam 81 3t
A gars

DY : VoIP, BIH B P 5 SUEI-C B I § |
IWRIad B & A |, 4 f3u e fgwedi & I U8l 3ok &1 994 Difoi:

1. HYT 1 AR 1 A T |
2. BUYT I AR EA 3T
3. HUT 1 9 B, At S 11 A &
4. FYT1 ITAE, AP YT 1 TI LI
(1)1
2) 2
(3) 3
(4) 4

1[Option ID=38025] Question Description : general_paper_genarel paper_set 23_english_q32
2[Option ID=38026]
3[Option ID=38027]
4[Option ID=38028]
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Using broadband to connect to the Internet has many benefits. Which of the following statements are TRUE in

this context ?

A. This connection does not allow you to use the land phone at the same time as being connected to the

Internet.

B. This connection allows a wireless connection
C. You are always connected to the Internet.

Choose the correct answer from the options given below :

1. Aand B Only
2. Aand C Only
3.Band C Only
4 A BandC

1) 1

(2 2

(3) 3

(4) 4

§EXIC W S 8 STSUS & WM BRA & 3D a1y § | Fafiild 3 o 3 oo a1saus S @

el wdigo

A. T8 PR 33! 1 $2xe T 93 67 & 999 ASaigy B & SUarT St Ak Tol aal g |

B. g P9I arETd (ddR) PRl Bl \3‘|T:||Ei e Pd % |

C. I FeAC A IS @A @ |
1 feu e f[as el O T Ul 3wk &1 99 BIfold:

1. %ad A 3R B
2. FadAINRC
3. HAAB IR C
4. A B3RC

1) 1
(2) 2

3) 3

4) 4

1[Option ID=38029]
2[Option ID=38030]

3[Option ID=38031]
4[Option ID=38032]

Question Description : general_paper_genarel paper_set 23_english_q33

Sl. No.34
QBID:23201034

Which of the following statements about networked computers are TRUE ?

A. Network users can communicate by email and instant messenger.

B. Files can easily be shared between users.

C. Viruses cannot be spread to other computers throughout a computer network.
D. It is possible for many users to access and share one printer on a network

Choose the correct answer from the options given below :

b=

Aand C Only

E I

. Aand B Only
1) 1
(2) 2
(3) 3
(4) 4

. A, Band D Only

.B, Cand D Only




Tead 4 oS e & IR § Fefafad o9 duE ae § 2

A, ST TR S0 SR @Rd HSARS (33 THOR) & AT & YU IR Fadl § |
B. WG & Hed BIgll Bl S 3 Tl fobar o 9pal ¢ |

C. T SR edd & 3 SR R 1A T YR Tol ol Joal ¢ |

D. [l Feds IR U e 0% s waiaaisl ot Ugd Sk 34 I A 91 ¢ |

Hid feu U fadedi T 9 TEl IR &1 98- Difeiu:

1.$ATA, B AR D
2. Fad AR C
3.%dd B, C AR D
4. Pad ARB

1) 1

@ 2

3) 3

(4) 4

1[Option ID=38033] Question Description : general_paper_genarel paper_set 23_english_q34
2[Option ID=38034]
3[Option ID=38035]
4[Option ID=38036]

Sl. No.35
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Which of the following are features that allow you to manage the windows desktop environment ?

A. Creating shorteuts
B. Renaming folders

C. Videoconferencing
D. Creating auto shapes
E. Adjusting icon size

Choose the correct answer from the options given below :

. Cand D Only
.Dand E Only

. A, Band E Only
. Aand B Only
1) 1

(2) 2

(3) 3

(4) 4

frafafad o 99 SH-0 fORvar § S & ! fasra S3@eld uRas & UarF &= 3 safd S g

b2 =

e Lo

A. qIeEHE G

B. DIt Bl G PRAl

C. difsal HIH AT

D. SIS &H1

E. RSP & MHR BT GHESH S

A feu T fosed § 9 981 3R &1 98- Biford:

1.%ad C ARD
2. %dd D AR E
3. HAd A, B IRE
4. FATAAIRB

1) 1

) 2

3) 3

(4) 4

1[Option ID=38037] Question Description : general_paper_genarel paper_set 23_english_q35
2[Option ID=38038]
3[Option ID=38039]
4[Option ID=38040]
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Given below are two statements :
Statement I : Turbulent and rapidly flowing waters are generally depleted in oxygen.

Statement II : Adding organic materials, such as sewage or paper pulp, to water stimulates activity and oxygen
consumption by decomposers.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are Correct
2. Both Statement I and Statement IT are Incorrect
3. Statement I is Correct but Statement II is Incorrect
4. Statement I 1s Incorrect but Statement IT 1s Correct
11
(2) 2
(3) 3
4) 4

Az fRrme:
BYT I : WafS SR ZeTHI a3 Halled STot AT SiTaRiier H &l gl Sian g |

HYA : T H T8 3udl el (UIR Ued) S Blal-e yard| ol a3 sfuuees! &1 idiafe sk
31 gRT ATFHoH STHT 9 SaT e |

SWRIGd PYH & HTalle H, Hd U [dhedl & I 9y Iugad SR &1 90 DI

1. ST AR 11 T B
2. PYT1 AR A Tad &
3. HYF I el 8, AfPA HYT 1 Tad ©
4. BYF 17T 8. A HYT 1 TS §

1 1
(2) 2
3) 3
(4) 4

1[Option ID=38041] Question Description : general_paper_genarel paper_set 23_english_q36
2[Option ID=38042]
3[Option ID=38043]
4[Option ID=38044]

Sl. No.37
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Meaning of Tsunami is ?

1. Oceanic wave
2. Harbour Wave
3. Coastal Wave
4. Oceanic earthquake
1) 1
(2) 2
3) 3
(4) 4

T & SR R

1. FETIFR o
2. TITyg T
3. A A
4. HEIRIT Y&
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=38045] Question Description : general_paper_genarel paper_set 23_english_q37
2[Option ID=38046]

3[Option ID=38047]
4[Option ID=38048]
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Given below are two statements :
Statement I : International Solar Alliance (ISA) was launched on the side-lines of COP24.
Statement II : ISA was launched by Prime Minister Narendra Modi and President of France, Emanuel Macron.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are True.
2. Both Statement I and Statement IT are False.
3. Statement I is true but Statement II is False.
4, Statement I is false but Statement II is True.

1 1

(2) 2

(3) 3

4) 4

EICECA K AT S

HUFL: HI.3. UL (COP)-24 & SR UD §6% U RIPY VR e (315 .TH.T.) BT YHURY fba1ar ot |
BUA I : YR TG VTTHA] 5 Hial SR BRI IRl SRS Hep] 7 o3 TH.U T YHRY a1 47 |
IRITd B & el T, 719 R Y e § 3 98t o) &1 994 S

1. BY 1 AR I A 9 B
2. BYT 1 AR 11 A 3T B
3. BYF 1 9d B, Al HY 11 3T B
4. BYT1 3TA ¢, W SUT 1 T 8
(1) 1
2) 2
3) 3
(4) 4

1[Option ID=38049] Question Description : general_paper_genarel paper_set 23_english_q38
2[Option ID=38050]
3[Option ID=38051]
4[Option ID=38052]

Sl. No.39
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Match List I with List II

LISTI LISTII
(Risk assessment step) (Method)
A [Hazard I [Determining the size and nature of the
" [[dentification " |population that has been exposed to toxicants.
B [Dose response I [Estimation of the magnitude of the public
" |assessment " |health problem
C [Exposure m Characterizing the relationship between the
" |assessment " |dose received and the adverse health effect.
R ek Proc_ess of deter_min@ng_ whether or nota
D. 5 IV. |particular chemical is linked to a particular
characterization 2
health effect.

Choose the correct answer from the options given below:

1. A-IV, B-III, C-II, D-I
2. A-IV, B-III, C-I, D-II
3. A-L, B-II, C-III, D-IV
. A-1, B-II, C-IV, D-TII
1) 1
) 2
(3) 3
(4) 4

e




il 11 gHl 11 9 e o

g1 11
i e s
39 SHEI & DR SR TPTd
A. [dehe ugaH L [l e o2 ot fo fadeht
i ¥ puifad gs of |
- sﬁﬁrﬁmﬁh s [T T GHE & THRA @I
|3 AT Fehic B TSR
Tl B3 Siol (HET) 3R fauid
C. [WHIGH Jedich | 111 [T UHTa o Hed Tt i
ERLGIERIGE
fen it Taf2ry <o ot fdt
D [FREEERE- |, [ARE e g 9 e |
B EEL " Jatuar el T (i & &t
ik an
frafaiad fameal & 9 981 IR o1 9g- Bife -

1. A-IV, B-IIL, C-II, D-1
2. A-IV, B-IIL, C-I, D-II
3. AL, B-IL C-IIL, D-IV
4. A-L, B-IL, C-IV, D-III
(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=38053] Question Description : general_paper_genarel paper_set 23_english_q39
2[Option ID=38054]

3[Option ID=38055]
4[Option ID=38056]

Sl. No.40
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Which of the following Volatile Organic Compounds (VOCs) are emitted from anthropogenic sources only ?

A Isoprene
B. Benzene
C. Terpene
D. Methane
E. Toluene

Choose the correct answer from the options given below :

1. A, B and C Only
2.B and E Only

. Aand C Only
.C, D and E Only
1) 1

(2) 2

(3) 3

(4) 4

frofataa & Y 5H-3 srunl s 3ife @teid) Faw graetd Wikl 3 Sl o € 2

A, JEIYE
B. doiH

C. wWIH
D. #HigA

E. T1qg
A feu e fas eyl § 9 981 SR &1 98- Biford:

e T




1[Option ID=38057] Question Description : general_paper_genarel paper_set 23_english_q40
2[Option ID=38058]
3[Option ID=38059]
4[Option ID=38060]

Sl. No.41
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Which of the following education commissions of India noted that - "It is obvious that if higher education is
not radically improved, our administration and techniecal progress, our intellectual standards and social
advance, will all be most seriously handicapped" ?

1. Kothari Commission
2. Radhakrishnan Commission
3. Hunter Commission
4. University Education Commission of 1948.
(1) 1
) 2
3) 3
(4) 4

FraferiRaT 5 § R & o fRre ot 3 e ara1 i a6 ey & o afe gk Rien 7 s g guR
TE1 {3 741 Gl SHRT U, G- WiIfd, §9R SIS ® AMEs iR T gard o1fg 9t aga 1k
=0 aifed gl 1

1. BISRT TIAT
2. THW AT
3. e I
4. 99 1048 P fgsyfaenea fem smam
(1) 1
2) 2
(3) 3
(4) 4

1[Option ID=38061] Question Description : general_paper_genarel paper_set 23_english_q41
2[Option ID=38062]
3[Option ID=38063]
4[Option ID=38064]

Sl. No.42
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Given below are two statements :
Statement I : Central University is established under an act of Parliament.

Statement II : The Prime Minister of India acts as the visitor of the Central University.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are Correct
2. Both Statement I and Statement II are Incorrect
3. Statement I is Correct but Statement II is Incorrect
4. Statement I is Incorrect but Statement II is Correct
1) 1
(2) 2
(3) 3
(4) 4

2 Gy Ruu E:
U1 - 99 & A0 & ded sy Fyfare st w1 Sl R |

BYF 11 : HRA & FUTHA d=1d fayfaenaa & s (9fves) & afia @1 FRde a=d § |
SR Y- & HTale H, - 3L fadeul ¥ 9 9ad Iugad ok &1 98- HIfolC:

1. BUF 1 AR 11 G T B
2. HYT 1 AR 11 & Tad &
3. PYF I 9el 8, AfPI PYT 1 TTad §
4. BYF 1 TTAd &, Afpd U 11 Tel &

1) 1
(2) 2
3) 3
4) 4

1[Option ID=38065] Question Description : general_paper_genarel paper_set 23_english_q42
2[Option ID=38066]




3[Option ID=38067]
4[Option ID=38068]

Sl. No.43
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Which of the following major initiatives have been taken by UGC, with a mission to address ethical practices
in research and publications.

A. Jeevan Kaushal

B. Mulya Prawah

C. GARP - Guidance Document on Good Academic and Research Practices
D. CARE - Consortium for Academic Research and Ethics

E. DIKSHA - Digital Infrastructure for knowledge sharing.

Choose the most appropriate answer from the options given below :

A, Cand E Only
A, B.Cand D Only
.B. C and D Only

. B and E Only

1) 1

(2) 2

3) 3

4) 4

ST T8 YA § Afde s9aeR &R & o & e U@ iR & 91y goi g1 Fefafaa d 3 @
N E A B TS 82

A. G ®ITd

B. o0 UaI§

C. T (GARP) - o~ ST 31 IS Tha i Us Nud Uiaead
D. 3R (CARE) - H-HIf¢gH BR Tl I Us gfiey

E. GI&f (DIKSHA) - [Sfued g3pRgaar BR Alad R
- f&U T fowedl & 9 9ad SUgad IR &1 I BT

1.$AAA, C AR E
2. HAAA, B, C AR D
3. %dd B, C AR D
4. $ad B AR E

1) 1

@ 2

@) 3

4) 4
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Sl. No.44
QBID:23201044

Which commission of Education in India expressed the opinion that to avoid famine in the country, the
production of Food must be doubled in the next 15 years and maintain an adequate growth thereafter ?

. Kothari Commission

. Nation Education Commission of 1964

. Radha Krishnan Commission

. University Education Commission of 1948,

R R

(1) 1
(2) 2
3) 3
(4) 4

YRa H 1l & 69 SaRT - % Hd ogad (9 b HRA H SieTel 1 991 & Q1Y STd 15 al H @1
FdTEH SR BT R 3P 94T 9T 9fG Pl SRPRR G 61T 2

1.%@3@
2. Gy 1064 BT forem ama
g et

4. 39 1048 T fayfaeera frer smanT

1) 1
2) 2
(3) 3
(4) 4




1[Option ID=38073] Question Description : general_paper_genarel paper_set 23_english_q44
2[Option ID=38074]
3[Option ID=38075]
4[Option ID=38076]

Sl. No.45
QBID:23201045

Which among the following setved as centres of learning and teaching during the ancient period in Southern
parts of India ?

A. Agraharas
B. Ghatika

C. Brahmapuri
D. Maktabas

Choose the correct answer from the options given below :

.Aand B Only

. A and C Only
A B.CandD

. A, Band C Only
1) 1

(2) 2

(3) 3

(4) 4

Wﬁﬂﬂgﬂﬁ%%ﬁaﬂﬁwﬁﬁaﬁ@aﬁﬁw&maﬁ?ﬁrwéﬁ%wﬁmw
& & 2

[

a2

A. 3UBR
B. Ufe®1
C. SRR

D. Haaq
1 f4T T fad el © 9 Hel 3R &1 94 DIfold:

. HadAAIRB
FaA AR C
_A.B.C3RD

. HAAA, BIARC
1

2) 2

(3) 3

(4) 4

L R R
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Read the following passage and answer the question given below :

During about a hundred years after the thirteen English colonies on the east coast of North America had won
their independence from England and emerged as the United States of America, that country had attained its
present territorial proportions. The westward territorial expansion of the United States took place at the cost of
the American Indian Tribes which inhabited those areas. The American Indians resisted these encroachments
but by 1890 this resistance finally ended in a massacre at a place called Wounded Knee in South Dakota, USA
also purchased vast territories of Louisiana and Alaska from France and Russia, respectively and Seized Texas
and California from Mexico after a war with that country. Between 1861 and 1865, there was a civil war when
the southern States of USA, which were primarily agricultural with plantations worked by slave labour,
seceded from the Union. As a result of the defeat of the southern States in the civil war, the Union was
preserved and slavery was abolished.

Within about three decades after the end of the Civil War, USA had become the foremost industrial power in
the world. By the end of the nineteenth century. she was producing about one-third of the total production of
iron and steel in the world. In almost every branch of industry. she outstripped every other country in the
world.

frofaRad Ty &1 ufgu Sk = feu T Uy 1 3w i |

S!S & gdf de W ke el SufaRi & S1Tcis § Waaadl UK SR SR Tgad g SERST &
U H FURA & 1€ I 100 T & SR SARDT = SO Ao[al YHT Wit far | Sad g SR
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6 g O JHITG B SURI THTHAT 1 GR11 & iR Tga 1y SEReT [y o1 9ad i sligifiie wfa
& TR | S Al & o d SRS H [ay H 1l IR 3310 & $a SUIE D UP-IETs Sl 8l
T | FENT & W U & 8 SR fay & gl g8 a2l 8 3l &g 7 |

USA purchased vast territories from

A, France
B. England
C. Mexico
D. Russia

Choose the most appropriate answer from the options given below :

.Aand B Only
.Aand C Only
. B and C Only
. Aand D Only
(1) 1
(2) 2
(3) 3
(4) 4

g oY SR feb G2l & fasga YHrT@RIg 2

AT

B. STAS
c. Afdgs!
D. 39

[

S

1 AU T fdeedl & 9 9o SUgEd SR &1 90 BT

1.$ad A 3R B
2. BT ASRC
3. PadAB 3R C
4. HaAAARD
1) 1
(2) 2
(3) 3
(4) 4
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Read the following passage and answer the question given below :

During about a hundred years after the thirteen English colonies on the east coast of North America had won
their independence from England and emerged as the United States of America, that country had attained its
present territorial proportions. The westward territorial expansion of the United States took place at the cost of
the American Indian Tribes which inhabited those areas. The American Indians resisted these encroachments
but by 1890 this resistance finally ended in a massacre at a place called Wounded Knee in South Dakota, USA
also purchased vast territories of Louisiana and Alaska from France and Russia, respectively and Seized Texas
and California from Mexico after a war with that country. Between 1861 and 1865, there was a civil war when
the southern States of USA, which were primarily agricultural with plantations worked by slave labour,
seceded from the Union. As a result of the defeat of the southern States in the civil war, the Union was
preserved and slavery was abolished.

Within about three decades after the end of the Civil War, USA had become the foremost industrial power in
the world. By the end of the nineteenth century. she was producing about one-third of the total production of
iron and steel in the world. In almost every branch of industry. she outstripped every other country in the
world.

frofaRad Ty &1 ufgu Sk = feu T Uy 1 3w i |

S!S & gdf de W ke el SufaRi & S1Tcis § Waaadl UK SR SR Tgad g SERST &
U H FURA & 1€ I 100 T & SR SARDT = SO Ao[al YHT Wit far | Sad g SR
D1 gL YT feR MRS YR Sl &1 BiHd U g3 ol 34 &1 1 7ed ¥ | 3Re!
YR = 7 ifdshHuT o7 UicRle g uR=q 1890 T 59 UiaIY & uRUIfd W8y Sleld dss Ar
T R IR RYER & =9 1 §5 | Ygad Iy SURDT = Wiy 3R 39 Y HH: GRIH SR Had] &
farge T ol W11 SR AiTuS] I 4 R CaT IR SITmI-a &1 U= SiteR o fadr 11961 3R
1965%&‘1%{113?5%%@?@%@ 3IRepT & il ey Sl gea: BN 3R US-Uld gad U 3R
3T I Hoigy 1 Bd U, 9 4 U 81 7T | 76 g | Sf&0fl Irsal & WRIed & URUTEEEY 64 &1
&1 5% SR 1Y T 1 I+ e gl |

6 g O JHITG B SURI THTHAT 1 GR11 & iR Tga 1y SEReT [y o1 9ad i sligifiie wfa
& TR | S Al & o d SRS H [ay H 1l IR 3310 & $a SUIE D UP-IETs Sl 8l
T | FENT & W U & 8 SR fay & gl g8 a2l 8 3l &g 7 |

USA became the topmost industrial power of the world by

1. The end of eighteenth century
2. The beginning of the nineteenth century
3. The middle of the nineteenth century
4. The end of the nineteenth century
1) 1
(2) 2
(3) 3
(4) 4

e o SRE $d ao fay &1 9ad a9 sieifie wfed & mar 2

1. 3{BRed! ¥al & 3fd P
2. FHdl Hal & URY a
3. JHANd] el & 7 dP
4. FHd] 9l & sid dP

(1)1

2) 2

(3) 3

(4) 4
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Read the following passage and answer the question given below :

During about a hundred years after the thirteen English colonies on the east coast of North America had won
their independence from England and emerged as the United States of America, that country had attained its
present territorial proportions. The westward territorial expansion of the United States took place at the cost of
the American Indian Tribes which inhabited those areas. The American Indians resisted these encroachments
but by 1890 this resistance finally ended in a massacre at a place called Wounded Knee in South Dakota, USA
also purchased vast territories of Louisiana and Alaska from France and Russia, respectively and Seized Texas
and California from Mexico after a war with that country. Between 1861 and 1865, there was a civil war when
the southern States of USA, which were primarily agricultural with plantations worked by slave labour,
seceded from the Union. As a result of the defeat of the southern States in the civil war, the Union was
preserved and slavery was abolished.

Within about three decades after the end of the Civil War, USA had become the foremost industrial power in
the world. By the end of the nineteenth century. she was producing about one-third of the total production of
iron and steel in the world. In almost every branch of industry. she outstripped every other country in the
world.

frofaRad Ty &1 ufgu Sk = feu T Uy 1 3w i |

S!S & gdf de W ke el SufaRi & S1Tcis § Waaadl UK SR SR Tgad g SERST &
U H FURA & 1€ I 100 T & SR SARDT = SO Ao[al YHT Wit far | Sad g SR
D1 gL YT feR MRS YR Sl &1 BiHd U g3 ol 34 &1 1 7ed ¥ | 3Re!
YR = 7 ifdshHuT o7 UicRle g uR=q 1890 T 59 UiaIY & uRUIfd W8y Sleld dss Ar
T R IR RYER & =9 1 §5 | Ygad Iy SURDT = Wiy 3R 39 Y HH: GRIH SR Had] &
farge T ol W11 SR AiTuS] I 4 R CaT IR SITmI-a &1 U= SiteR o fadr 11961 3R
1965%&‘1%{113?5%%@?@%@ 3IRepT & il ey Sl gea: BN 3R US-Uld gad U 3R
3T I Hoigy 1 Bd U, 9 4 U 81 7T | 76 g | Sf&0fl Irsal & WRIed & URUTEEEY 64 &1
&1 5% SR 1Y T 1 I+ e gl |

6 g O JHITG B SURI THTHAT 1 GR11 & iR Tga 1y SEReT [y o1 9ad i sligifiie wfa
& TR | S Al & o d SRS H [ay H 1l IR 3310 & $a SUIE D UP-IETs Sl 8l
T | FENT & W U & 8 SR fay & gl g8 a2l 8 3l &g 7 |

Given below are two statements :

Statement I :The territories near the West coast of North America became part of USA much later than those
near the East Coast.

Statement IT : USA gained independence from England in the nineteenth century.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are Correct
2. Both Statement I and Statement II are Incorrect
3. Statement I 1s Correct but Statement II 1s Incorrect
4, Statement I is Incorrect but Statement II is Correct
(1) 1
) 2
(3) 3
(4) 4

fRdeEume:

HYA L : T SRS & T 7 & e F YU gdf o0 & Fde & YMFT S a1 8 agd a6 5
Y I SHRSBT & HFT & |

B 1 : YGad T SRDT DI S0l s H SHTSg] Sawal 4g1 § el |
TIRITd DY P A1eiiep 1, =i QU Y faeedl # 3 98 I9gad IR DI 98 SIoig:

. HY 1 3R 11 ST Tl §

HYF 1 R 1 A Tad €

BT 1Tl g, AT HYT 1 Tad ©
. PYF 1A 8, AP YT 1 TS ®

(1) 1
(2) 2
3) 3
(4) 4
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Read the following passage and answer the question given below :

During about a hundred years after the thirteen English colonies on the east coast of North America had won
their independence from England and emerged as the United States of America, that country had attained its
present territorial proportions. The westward territorial expansion of the United States took place at the cost of
the American Indian Tribes which inhabited those areas. The American Indians resisted these encroachments
but by 1890 this resistance finally ended in a massacre at a place called Wounded Knee in South Dakota, USA
also purchased vast territories of Louisiana and Alaska from France and Russia, respectively and Seized Texas
and California from Mexico after a war with that country. Between 1861 and 1865, there was a civil war when
the southern States of USA, which were primarily agricultural with plantations worked by slave labour,
seceded from the Union. As a result of the defeat of the southern States in the civil war, the Union was
preserved and slavery was abolished.

Within about three decades after the end of the Civil War, USA had become the foremost industrial power in
the world. By the end of the nineteenth century. she was producing about one-third of the total production of
iron and steel in the world. In almost every branch of industry. she outstripped every other country in the
world.

frofaRad Ty &1 ufgu Sk = feu T Uy 1 3w i |

S!S & gdf de W ke el SufaRi & S1Tcis § Waaadl UK SR SR Tgad g SERST &
U H FURA & 1€ I 100 T & SR SARDT = SO Ao[al YHT Wit far | Sad g SR
D1 gL YT feR MRS YR Sl &1 BiHd U g3 ol 34 &1 1 7ed ¥ | 3Re!
YR = 7 ifdshHuT o7 UicRle g uR=q 1890 T 59 UiaIY & uRUIfd W8y Sleld dss Ar
T R IR RYER & =9 1 §5 | Ygad Iy SURDT = Wiy 3R 39 Y HH: GRIH SR Had] &
farge T ol W11 SR AiTuS] I 4 R CaT IR SITmI-a &1 U= SiteR o fadr 11961 3R
1965%&‘1%{113?5%%@?@%@ 3IRepT & il ey Sl gea: BN 3R US-Uld gad U 3R
3T I Hoigy 1 Bd U, 9 4 U 81 7T | 76 g | Sf&0fl Irsal & WRIed & URUTEEEY 64 &1
&1 5% SR 1Y T 1 I+ e gl |

6 g O JHITG B SURI THTHAT 1 GR11 & iR Tga 1y SEReT [y o1 9ad i sligifiie wfa
& TR | S Al & o d SRS H [ay H 1l IR 3310 & $a SUIE D UP-IETs Sl 8l
T | FENT & W U & 8 SR fay & gl g8 a2l 8 3l &g 7 |

The resistance of American Indians against the territorial expansion of USA ended

. About 50 years after USA came into existence

. About 25 to 30 years after the Civil war in USA

. About 25 to 30 years before the Civil war in USA
. About 25-30 years after USA came into existence

T

1) 1
(2) 2
3) 3
4) 4

Tga Ao SHRPT $ &7 fTRIR & [d3g SERe YRdl o1 ufdRly a1 g3

1. JUEE ST H&red H o & a1g T4 50 I9 0
2. qUHU E T g5 & 25 ¥ 30 9Y Uy
3. UNUH R 4G & U 25 W30 oy gd
4. JUHU & 3 § 3 & T 25-30 99 9T
1) 1
2) 2
3) 3
4) 4
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Read the following passage and answer the question given below :

During about a hundred years after the thirteen English colonies on the east coast of North America had won
their independence from England and emerged as the United States of America, that country had attained its
present territorial proportions. The westward territorial expansion of the United States took place at the cost of
the American Indian Tribes which inhabited those areas. The American Indians resisted these encroachments
but by 1890 this resistance finally ended in a massacre at a place called Wounded Knee in South Dakota, USA
also purchased vast territories of Louisiana and Alaska from France and Russia, respectively and Seized Texas
and California from Mexico after a war with that country. Between 1861 and 1865, there was a civil war when
the southern States of USA, which were primarily agricultural with plantations worked by slave labour,
seceded from the Union. As a result of the defeat of the southern States in the civil war, the Union was
preserved and slavery was abolished.

Within about three decades after the end of the Civil War, USA had become the foremost industrial power in
the world. By the end of the nineteenth century. she was producing about one-third of the total production of
iron and steel in the world. In almost every branch of industry. she outstripped every other country in the
world.

frofaRad Ty &1 ufgu Sk = feu T Uy 1 3w i |

S!S & gdf de W ke el SufaRi & S1Tcis § Waaadl UK SR SR Tgad g SERST &
U H FURA & 1€ I 100 T & SR SARDT = SO Ao[al YHT Wit far | Sad g SR
D1 gL YT feR MRS YR Sl &1 BiHd U g3 ol 34 &1 1 7ed ¥ | 3Re!
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farge T ol W11 SR AiTuS] I 4 R CaT IR SITmI-a &1 U= SiteR o fadr 11961 3R
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6 g O JHITG B SURI THTHAT 1 GR11 & iR Tga 1y SEReT [y o1 9ad i sligifiie wfa
& TR | S Al & o d SRS H [ay H 1l IR 3310 & $a SUIE D UP-IETs Sl 8l
T | FENT & W U & 8 SR fay & gl g8 a2l 8 3l &g 7 |

Given below are statements :

Statement I : The southern states were successful in receding from the USA after the civil war.
Statement IT : Abolition of slavery was one of the outcomes of civil war in USA.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are Correct
2. Both Statement I and Statement IT are B4Incorrect
3, Statement I is Correct but Statement II is Incorrect
4. Statement I 1s Incorrect but Statement II 1s Correct
(1) 1
(2) 2
(3) 3
(4) 4

EIEEARAIICTE)
DY : TH&UT 58 76 G5 P SURId 6gad oY SRS | JUD 61 H a6 |
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(1) 1
(2) 2
3) 3
(4) 4
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